
 

 

FORM FIT HOOD PROTECTOR 

Mercedes-Benz ML-Class Hood Protector 1998-2005                                                    HD 12098 

Installation Instructions 
Hardware Kit       Tools Required   
2 – Large Bumpons       1 – Phillips Screwdriver 
2 – Clip Bodies 
2 – Pins  
2 – # 6 x 5/8” Flat Head Screws 
2 – ‘ L’ Brackets  
2 – 3M Anti-abrasion Film Pads 

1. Be sure that hood is clean and dry inside and out. Open the hood. 
2. Remove the grill from the hood by removing the ten (10) retaining screws on the back side of the grill. Center the protector on the hood and 

ensure that the holes in the protector tab align with those in the hood. Re-install the grille; be sure that the retaining tabs at the top and bottom 
of the grille                 re-attach as originally installed. See Illustration #1. 

3. Peel and fold an anti-abrasion film pad in half over the edge of the hood, underneath each of the two (2) holes in the protector. See Illustration 
#3 – Step 3. 

4. a) Place a clip over each of the anti-abrasion film pads on the edge of the hood as shown in Illustration #3 – Step 4a.  
    b) Insert a pin through the protector into each of the clips. See Illustration #3 – Step 4b. 

c) Insert a #6 x 5/8’’ screw through an ‘ L’- bracket and into the clip. See Illustration #3 – Steps 4c  & 4d.  
d) Make sure all the components are well seated together; the protector is centered on the hood, then tighten the screws into the clips. 

5. Install the bumpons as shown in Illustration #2. Note: The bumpons must be installed on the hood not on the protector!!!! If the 
bumpons are installed on the protector, they will wear through the paint. See Illustration #2. 

6.     On some vehicles it may be necessary to adjust the hood bumpers and/or latch for proper clearance. 
Note:  Do not pull on the protector when opening or closing the hood. 

Care Instructions 
Clean the protector with a mild soap and water or plastic cleaner only. Do not use chemicals or solvents.  
Periodically check to make sure that the bumpons are in place and the protector is secure. 
Avoid using automatic car washes. Do not pull on the protector when opening or closing the hood. 
 
Illustration #1: Protector in place with Grill         Illustration #2: Bumpon Location  
 
 
 
                                     
 
 

 
 
 
 
 
 
 
 
 

Illustration #3: Clip Configuration  
 
 

 
 
 
 
 
 
 
 
 
Retain this sheet for care instructions and kit information. 

Made in Canada  Rev2.140903 

 
 

Step #3 Step #4a Step #4b Step #4c & 4d 

Grill 

Retaining Screw 

Inner Hood Surface 

Outer Hood Surface 

Protector 



 

 

FORM FIT PROTECTEUR DE CAPOT 

Mercedes-Benz ML-Class 1998-2005                                                                             HD 12098  
Instructions d’installation 
Quincaillerie       Outils requis    
2 – Grosses butées       1 – Tournevis à tête étoilée (Philips) 
2 – Agrafes noires 
2 – Épingles noires 
2 – Vis à têtes plate (n° 6 x 5/8 po.) 
2 – Braquets en forme « L »  
2 – Tampons abrasifs 3M 

1. S’assurer que le capot est propre est sec à l’intérieur comme a l’extérieur. Ouvrir le capot. 
2.    Retirer la grille du capot en enlevant les dix (10) vis de retenue situées à l’arrière de la grille. Centre le protecteur sur le capot et s’assurer que 

les trous de la patte du protecteur sont alignés avec ceux du capot. Replacer la grille en s’assurant que les pattes de retenue situées dans les 
sections supérieure et inférieure de la grille se rattachent selon l’installation originale. Voir l’illustration n° 1. 

3.    Peler et plier en deux les tampons anti-abrasifs sur la bordure avant du capot en dessous des (2) deux trous. Voir l’illustration n°3 – étape n°3. 
4. a) Monter une agrafe sur chaque tampon anti-abrasif sur la bordure du capot. Voir l’illustration n°3 - étape n°4a. 

            b) Insérer une épingle au travers du protecteur et dans I’agrafe. Voir l’illustration n°3 – étape n°4b. 
            c) Insérer une vis (n°6 x 5/8 po.) au travers du braquet en forme « L » et dans l’agrafe. Voir l’illustration n°3 – étapes  n°4c et n°4d. 

 d) S’assurer que tous les composants sont bien installés sur le capot et serrer les vis dans les agrafes. 
5. Installer les butées selon l’illustration n° 2. Note: Les butées doivent être installées sur le capot et non sur le protecteur!!!!   Si elles sont 

installées sur le protecteur, elles vont endommager la peinture. 
6.  Sur certains véhicules, il peut-être nécessaire d’ajuster les butées du capot et/ ou la fermeture du capot pour obtenir suffisamment d’espace 

libre. 
Note: Ne jamais tirer sur le protecteur pour ouvrir ou fermer le capot. 

Instructions d’entretien 
Nettoyer le protecteur uniquement avec une solution d’eau et de savon doux ou avec un nettoyant de plastique.  
Ne pas utiliser de produits chimiques ou de solvants.  
S’assurer à intervalles réguliers que les butées sont toujours en place et que le protecteur est toujours bien retenu. 
Éviter de laver le véhicule dans un lave-auto automatique. Ne pas tirer sur le protecteur  pour ouvrir ou fermer le capot. 

Illustration n° 1: Position du protecteur avec la grille                Illustration n° 2: Installation des butées 
  
 
 
                                     
 
 

 
 
 
 
 
 

 
 
 
Illustration n° 3: Configuration des agrafes   

 
 
 
 

 
 
 
 
 
 
 
Conserver cette feuille les instructions d’entretien et les renseignements concernant le nécessaire d’installation. 
Fabriqué au Canada           Rev2.140903 

 

 

Étape n°3 Étape n°4b Étape n°4c & 4d Étape n°4a 

Grille 

Vis de retenue 

Protecteur 

Surface extérieure du capot 

Surface intérieure du capot 


